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
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0
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

 ,Σαβ


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


γij

γji



 ∼ Normal�






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
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
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1 ργγ
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1 ρεε

ρεε 1




 .

�� �
 ���� �
���$ ��� �������� �

�	 ��� �
� ����

���
 ��� ��# ����������� D
#����$ �� ��

������	� �
 �2����� 
�� ����������� �� ��� ��������)�
�������� ���������� ��
 �
 �	�
 ��!��
 	 ��

���

�� +�����
��$ �
		
#��! �
������
��	 �������� ��
�
�
	 �
� 	����� �

�	� 4��	���
$ D�		�$

?�����)�

� 9 ����� &<<15$ #� ������

	 ∼ Normal[θ�, σ
�
�], θ� ∼ Normal[θ�, σ

�
θ�], σ−�� ∼ Gamma[a�, b�], Σ

−�
αβ ∼Wishart�[(ν�R)

−�, ν�]

4E5

#���� X ∼ Gamma[a, b] ���	��� E(X) = a/b�

+�� ���������� ����������
 #��� � 0 �� 4E5 ��� �������
 �
 �� ��������������� ��
 ��� 
����

��� �
 !��� 
�>��� ���
� 
���������
�� �
� ��� ���������� θ�$ σ
�
� ��
 Σαβ � ��>��� 
���������
�� ���

�����	 #��� � ���� 

�� �
� ���� ���
�! ���
� 
����
�� ��!��
��! ����������� 6� ��� ���	�����
��

���� #� ���� ���
��
$ #� ���� ���
 θ� = 0$ σθ� = 10000$ a� = 0.0001$ b� = 0.0001 ��
 ν� = 2�

+���� ��
���� ��� �
���� �� ��� ����� ���� ���������� 

 �
� ����!� 
��������		� #��� ��� ��	���

��� ��������
� =��� ������� �
 Σαβ$ #� 	�� R = r�I� ��	� � Σαβ $ ��� ���
� ��������
�� 
�

Σγ ��
 Σε ��� �������	 
�� �
 ��� ��������� 
� �;��	 
��!
��	 �������� -
� Σγ$ #� ������

ργγ ∼ Uniform[−1, 1] ��
 #� ������ σ−�γ ∼ Gamma[3, 2r�] #���� ��
��
�� � 
�>��� 
���������
�

�
� σ�γ� +�� �����	 
� ��� ��
��� ����� ��������������� 	��� �� ��� ���� ���� E(σ�γ) = r� ��


Stddev(σ�γ) = r� #���� #� ��	���� �� ������	� �
� ��� ���	�����
�� 
�������
 �� ��� ������ � ����	��

���
� ��������� �� ���
��
 
� Σε� +�����
��$ #��� ��� 
����������
� 
� ��� �������������� r�$ ���

��?� �� �
��	���	� �����3�
� (2���� �
� ��� ���
� 
���������
�� 
� σ�ε ��
 σ�γ $ ���� �� ��� ����

�

�	 �� ��
�
��
 �� ��		 ��
 �#���, 4011&5� +�� ��
�
��
 ���
� 
� σ�γ ��� �� ���� �� �
��

����
��
 ���� ��� (2�
������	 
���������
� ��
�
��
 �� ��		 ��
 �#���, 4011&5� 6� �� �
����	�

�
 ����	��� ��� �������� �

�	 �� 	������! ��� ����������	 ��������� ���
�!� ��� �����3����
� 
�

��������������� 4��!� θ�$ σ
�
�5�

+
 
�������� r�$ #� 
������ ���� E(σ�α) = E(σ�β) ≈ E(σ�ε) = E(σ�γ) = r� #���� ��!!����

'



� �
��
��	��� 
� ��!����
� ��
�!�� ��� ����
�� �>����� +�����
�� ��� ���� ���
 
�	� ���� 

��
�� ��� 
���!� 
� ��� �2�������� ��
 �
����	� ��	��� 
�� ��!�� �2���� �
�������! σ�α 4�
�

�2���	�5� =� ���
����
 ���� ��� ���� ��� ��� �
��#��� #��� � ���!� 
� ��	��� �
� r� �
 ���� 

��� ����������� 
� ��� ����	��� =� ����� ���� #� ���� �2���������
 #��� �	���������� �
 ���

=������ 
���������
� 4��!� ��
����
��� 
�>��� ����� ���
�� �
� σ−�α ��
 σ−�β ) ��
 
������


����	�� ����	��� =��� ��� ���� ���	� ���� ��� �
��
� ���
� 
���������
�� �
� ��� ��������� ���

������
���	�$ �� �� � ����	� ������ �
 �		
# 
������� ��������������� �
� ��� ��
���
��	 ���
���

D����! �����3�
 ��� �������� �

�	$ ��� �

�	 ��������
�� ��
 
��� ��
��� � �
�����
�


���������
� �� ���
�
���� #��� ��� �������� ����
�!�� +�� �
�����
� 
���������
� �� ��� 
������)

���
� 
� ��� ���������� �
�
���
��	 
� ��� 
��� ��
 �� ��� 32���� ��
� #���� ��������� ��
���
��

+���� ��� m� +m+ 10 ���������� �� ��� ��?� ��
 ���� ��� �
�����
� 
���������
� �� �
��	�2

��
 
�F��	� �
 ���
� �� ��� ��		 ������
��	 �
��� +�����		� �
#����$ �� �2���������� �� ���������


�
	�	� �� ��� �����!� ��	�� ��
 �����
 
� �
�� 
� ��� ����������� +�����
��$ �� #� ��� ��	� �


�������
	� !������� � ���������$ ��� σ�α$ ��
� ��� �
�����
� 
���������
�$ �����!� �� ��
 ��	��)

	��� ��� ����	� ����
��
 
������
�$ #� #�		 ���� ���� 
������
 ��������� 
� ��� 
�����
 �
�����
�

���� ��
 �
�����
� ����
��
 
������
� ����������	�� +�� ����

� 
� ��� 
� ����� �
��� ���	


4��	 �$ ?�����
�
� 9 ����!�	��	��� &<</5 ��
��
� �� ��������� ����
��� �
 ������� !�������
�

��
� �
�����
� 
���������
���

6� !�����	$ ��� ���	��������
� 
� ���� �� �������� ���	�����
�� �� �
� �	#��� �����!��)

�
�#��
� +�� ���� 3��� ���
� �
 
�������� � �������	�� ��� 
� ����� #���� ��� ��� �
�����
�


���������
� �� ��� ��������� 4��� �;��	������5 
���������
�� ���
�
$ ��� ���� ���
� ��
!������!

�2������� �� �� �� 
���� ��������� �
 !������� ������	�� ��
� �
�)����
��
 
���������
��� -
���)

����	�$ ������� �� � ��!� 	���	 �
��#��� ��� �!� ���� ��
�
� ����� 
�F��	���� ��
 �		
#� ����

���
����������
 ����� �
 ��������� ��� ��?�� +�� ���� ���
 
�	� ����	� ��� 
��� ��
 ��
��
�

��� �

�	 �����3����
�� �����	� ��	����! �
 ��� ��� 
� ����� ��� ����
���
 �� ��� ��� !�
��
�

+�� ���� 
��	� 
�	� #��� ��� 
����� ��
� ��� ��� 
� ����� ����� �� ��! ���� ���� ��� �����

��� �������
 ��������	 �
����!����� ������� ��� ���	�)�� !�������	 ��
 ���	�����	 ������	�����

B



�
 ���� �
����!����� +�����
��$ �� ��� ��?�$ � ������� �
��� �� 
� �

�	 �����3����
�� �� ��

�2���	� 
� ��� ����3�� 
� �������$ ����
�� ���� �
�� ��� ���������! �
 �

� � ����� ����	��

�
� ��� ����� ��?� !���� �� 4&5 ��
 ��� ���
� ��������
��� 6� ���� ����$ �� ��� �� ��
#� ����

��� ��		 �
�
���
��	 
���������
� 
� Σε ��� � 
������ #���� �� ��
�
���
��	 �


|Σε|
− �

�

�

i<j

nij

Iρε(−1, 1) exp





−
1

2

�

i<j

nij�

k��






yijk − 	ij

yjik − 	ij






T

Σ−�ε






yijk − 	ij

yjik − 	ij










σ�ε exp(−2r�σ

�
ε)

#���� I �� ��� ��
����
� ������
�� +�� ��		 �
�
���
��	 
���������
� 
� Σε �� �
�)����
��
 ��
 ��

�� �
� �	��� �
 �� �
# 
�� �
�	
 ����	� 
�����	� ��
� ���� 
���������
�� -
�������	�$ �������

#
� � �� ��� ��� !�
��
 ��
 
��������� � ������	� ��
�
��	 
������ �
� ��� ���	��������
� 
�

��� ����
�
	�� �	!
������

�� ��
���� ��������	 �
�����$ ��� 
����� ��
� � ��� 
� ����� �� �
���	���
� +
 �
��������

����$ � ����	� ������!� ���
	��� �������! ��� 
����� 
� ��� ��� 
� ����� �� ��

���! ����� t��

�������� +�� ��	�� t �� ������		� ��
��� �� 	

 ��! �� ��� ���
�
���	���
� �	
�� 
� ��� 
�����

��
 �
���! ���� ��� ���
�
���	���
� ��������� #�� ��� �
� ���������! ��	��� 
� t� 6� ��� �2���	��

�
���
���
 �� ���� �����$ #� 
�
 �
� 
������ ��� ��
�	������ ���
�
���	���
���

��� ����� ������	�


� �
��	�� ����

 �
� �

�	 ��	����
� �� �
 ��� ��� ���
������ ����
������ �������
� ��
�
��
 ��

:��
 9 6������ 4&<<.5� ����� � 3���� ������ 
� ���
�
��� �

�	�$ ��� �������
� �� ����
 
� ���

���
������ ����
������ 
� � �

�	 �� ����� 
� ��� ���	��� �
 ���
��� � ���	����� 
� ��� 
���� :��

y���	 
��
�� � ���	����� 
� ��� 
������
 
��� ����
� y
��. +�� �
�����
� ���
������ 
���������
� 
�

y���	 ��
�� �

�	 M ��

f 
M�(y���	| y
��) =
�

f(y���	| η

M �) f(η
M�| y
��) dη


M � 4@5

#���� η
M� 
��
��� �		 ��� ���������� ��
�� �

�	 M $f (η
M �| y
��) �� ��� �
�����
� 
������ ��


f(y���	| η
M�) �� ��� 
������ 
� ��� ���
����
 4
� ������5 ��	��� +�� �

�	 ��	����
� �������
�$

<



��		�
 ��� �2�����
 ���
������ 
������� 4(��5$ ��

��� ��� �

�	 M #��� ��� ���		��� ��	�� 
�

E
M�[d(y���	, y
��)| y
��]

#���� d(y���	, y
��) �� � 
���������� ������
� ��
 ��� �2�������
� �� #��� ������� �
 ��� ���
������


���������
� 4@5� -
� �
�����
�� 
���$ � �
��
� 
���������� ������
� �� d(y���	, y
��) = || y���	−

y
��||
�#���� ||x||� 
��
��� ��� ��� 
� �;����� 
� �	������ 
� ��� ����
� x� 6� �� �����!���
�#��
 �


�������� (�� �� � ���� 
� ���� ����	��!� 6� ���� 	

� 
� �� ���� ���$ ��� ����
� y���	 ��

!�������
 �� � �������� ������� ���
�
��! �
 ��� ������
 �

�	$ ����	����! � ��	�� 
� d(y���	,

y
��). +�� ����	� ���� 
� ����� d(y���	, y
��) ��	��� �� ���� ���
 �
 �������� (���

=� ����� ���� �������� �

�	 ��	����
� �� � 
�>����� ��
�	�� ���� ������! ��� 3� 
� �

�������	�� �������� �

�	� +�� 	����� �� � �
�� 
�F��	� ��
�	�� �
� #���� ����� �� �
 �
�������

�� ��� 	���������� ���$ ��	���
$ �#���, ��
 %	���
� 4&<<B5 
������ ��� 
�F��	���� 
� ������! 3�

�
� �������� �

�	� ��
 ��
��
� � ����	���
� ����
��� �� ��� �
���2� 
� �����������	 �

�	��

� �������� �����
��

��� ������ �	�
 �����	����

+�� !�����	 �
���	 ��	���
�� �

�	 �		
#� �
� �� 
�����
�)�����3� ���� �>���$ 
�����
�)�����3�

���
� �>����$ 
�����
�)�����3� ������� �>���� ��
 
�����
�)�����3� ���������
� �>����� 6� 
����

#
�
�$ ��� ���������� 	$ αi$ βj ��
 γij$ i ≤ i �= j ≤ m ��� �		
#�
 �
 �� ������� ����������
 #���

��� ��
�2 k� +�� ��?� ��� �� �

�3�
 �
 ���	�
� ����� �
�����	����� �� #�		 �� ��� �

���
� 
�

�
�������� 
� ��������� +
 �		�������$ �
���
�� ��� �
		
#��! �

�3����
� 
� �2������
� 4&5

yijk = 	 + αi + βj + γij + δ sexij + εijk

yjik = 	 + αj + βi + γji + δ sexij + εjik. 4.5

6� 4.5$ #� ���� �

�
 ��� sexij ���� �
 ���� ��� �
��
� ��	���
����� ���
������ ���� �������


� ��� 
��
���� ��2 �������� 
�>�����	� ���� ������� 
� ��� ���� ��2� =� 	�� sexij = 1 �� ��������

&1



i ��
 j ��� 
� ��� ���� ��2$ ��
 #��� �������� i ��
 j ��� 
� ��� 
��
���� ��2$ #� 	�� sexij = 0�

+��� ��� �2������� 
� ��� ��	���
����� ���
������ �����	���� �
 ��������! δ = 0� 6� 4.5$ �������

���
� ��������
�� �	�
 ���
 �
 �� ��
� ��
 #� �
������� ���� �� ��� ���� ������ �� ��� ���
�

��������
�� �� ��� ��?�� -
� �2���	�$ #� ������ δ ∼ Normal[θδ, σ
�
δ ] #��� θδ ∼ Normal[θ�, σ

�
θ�]

��
 σ−�δ ∼ Gamma[a�, b�]� ��� ��� �	�
 ����

��� ��� ������	� ���� ���� 	k �� 4.5$ #���

	k ∼ Normal[θ�k, σ��] ��
 θ�k ∼ Normal[θ�, σ�θ�] ��
 σ−�� ∼ Gamma[a�, b�]$ #���� ��� �� �����	 ��


�������! � ����
��	 ����
� -
� �2���	�$ ������������ ��� ���� 
��� �� �2�������� k = 1, . . . , nij

��
 ����� �����!� ��� ����!� �
�
�
����		��

� �
�� �	��
���� �2�����
� �� ��� �

�	 #���� �		 
� �
�� 
� ��� ��������)�
�������� ����)

������ {σ�α, σ
�
β, σ

�
γ, σ

�
ε, ραβ , ργγ, ρεε} ��� !�
��)�����3�� -
� �2���	�$ 
�� ��� �� ���������
 ��

 �
#��! �� ��	�� 
�>�� �
�� ���� 

 ����	��$ ���� ��$ #������ σ�Mα �� 	��!�� ���� σ�Fα� ����	��

���
������ �
� ��� 
���� ���������� ��� �� �
���	���
 ��
 �����
�

��� ��
�	���	
�� ������

?�����
���� �� ��� 
�!��� 
� ��������
� ���#��� ����
�� �� � ���
������	 �������	� ���� ���

���� ��� ������� 
� �����
	
!���	 ���
���� ���� �� �
!������)�
��������� ���
��$ ��	���� ���
��

4A�#�
�� &</&$ &<'<$ "���� 9 :� %
�� &<B05� �����
	
!���� ��� ���������
 �� ���
���! ���

��
	���
� 
� ���������
��	 ��������
� �� ��# ��;����������� �� ��� ��	���
����� ���#��� ����
��


���	
��$ ��� ������
���� ��
�	
 �������� 
��� ����� +
 ���� ���� � �	�����	� ���
������$ 
��

���
� ��������	 ���
���� ��
� � 	
�!���
���	 ���
� ���� �
���
�� ��� ��
	���
� 
� ���������
��	

��	���
�� ��
�! �
��	��� �����!���� � �
��
 �
��� 
���!� #�� ���
 �� A�#�
�� 4&</&5 �� ���

�	����� ���
� 
� ��������
�� 6� ����� ���	�����
� 
� A�#�
��I� ���
�$ ����� 9 (����
� 4&<'15

�
�
����
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��� ���������� 
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�� 6� �
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��
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 �� ����� 9

(����
� 4&<'15� +��� ���
� ��
��
�� �� 
��
������� �
 ���� ��� ��?� ���	���� �
� � 	��!� 
���

��� #��� ����		�	 �
��
 �
��� �	������ ��
 ����
��	 �>�����

:�� ygijk 
��
�� ��� ����
��� �� ��� k�� 
�����
� (k = 1, ..., 5) 
� ��� i�� ������� �� �� ���
�

#���� ��� j�� ������� �� ��� ������� ��
 �
�� �������� ��� ������� 
� ��� g�� !�
��$ g = 1, ..., 6.

:�� roomgij = 1 (0) ��
����� ���� �������� i ��
 j �� !�
�� g ��� 4��� �
�5 �

������� =� ��
�
��

��� �
		
#��! ��?� �
� 
��
�� ��������
� ��
��� ygijk ��
 ygjik

ygijk = 	k + αgik + βgjk + δk roomgij + γgijk

ygjik = 	k + αgjk + βgik + δk roomgij + γgjik

+��� �

�	 �
���	���� ���� ��� 
�����
� �����3� �����!� 	���	 
� ��������
� 	k ��
 �

�����

�>��� δk ��� ��� ���� �
� �		 �

����� ����� ��� ��� 
�����
� �����3�� A
�� ���� �� ���� ��!�	�

���������,�
 �

�	$ ��� ���������
� �>��� γgijk �	��� ��� 
��	 �
	� �� ��� ���
� ����� =� ����

490 3���)
�
�� ���������� �2������
 ��� 	k, αgik, βgjk, ��
 δk.

+�� ��
	���
� 
� ��� �
���	 ���#
� ��������� �� ���� ����
����)��		 ��� �>��� ��� ���������

+�����
��$ ��� ���
�)������� �
�������� �����2 Σαβ �� �

�		�
 �� 
�����
� �����3�� +�� 
��
��

�
�������� �����2 Σγ �� �

�		�
 �� 
�����
� �����3� ������� #� ��� ���������
 �� �

�		��! ���
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����� ��
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� �� �
 ���
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#��! �
���	���
�* 	k ∼ Normal(	, σ��)$ δk ∼ Normal(δ, σ�δ) ��





αgik

βgik



 ∼ Normal�








0

0



 ,Σkαβ



 , Σkαβ =




σ�kα ρkαβσkασkβ

ρkαβσkασkβ σ�kβ



 ,






γgijk

γgjik




 ∼ Normal�











0

0




 ,Σkγ




 , Σkγ = σ�kγ






1 ρkγγ

ρkγγ 1






#���� ��� 
���������
�� 
� ����� ���������� ��� 
����� ���	
!�� 
� ��� ��?��

?���		 ���� ��� ���
� ��������� ��;����� ��� �����3����
� 
� � ���!	� �������������� r�� �

����
���	� ��	�� 
� r� �� ����
 
� ��� �
���
�����
� 
� ��� ���� 
� ygijk� ����� ��� ����	� ����
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� ygijk �� 'B�& ��
 ��� ����� ��	�� 
� ������������ �� &11�1$ �� �� 	� �	� ���� E ����
��
 
������
��


� ��� 
� ��� �>���� α$ β 
� γ ��
�	
 �� 	��� ���� 
� �;��	 �
 100.0− 78.1 = 21.9� -
� �2���	�$

3σα ≤ 21.9$ ��
 ����� ((σ�α) ≈ r�, #� ��� r� = (21.9/3)� ≈ 50. +�����
��$ �� �2���������� ���

��� ��� ��������� 
� ��� �2�������� �
 
�������� ��� ���
� ��	�� r�.

6� +��	� &$ #� ��
��
� �
�� ������� ����	�� 
� ��� ���	����� =� 
������ ���� ��� �
��


������� ����!�� �� ��������
� 
���� �� ��� ���	� #�� � 
� ��� ���
�$ �
�� �
���	� ���#��� #�� 

& ��
 #�� 0� 6���������!	�$ �

������ ���
 �
 �
� 	� � ���� 
���� �� ���� �� ��� ���� !
�� 
��

+���� ����� �
 �� �
 ����
��	 �>��� 
� ��� ���
� ��
 ������� ���������$ ��
 ���������!	�$ ���

�
���	���
� ραβ 
��������� ����� ��� 3��� #�� � +�� 
��
�� �������� σ�γ 
�������� #��� ����$ ��


�� �2�����
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��
�� ������
���� ργγ ��������� #��� ����� =� �������,� ���� �� �
�����!� 
�
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� ������ �� ���� ����� �� ����	� ��	�����
 ����

� �� ��� ����


� ��������� ���� ��� �� 
���	���
� 6� #
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 �� �
����	�$ �
� �2���	�$ �
 ��

��� � ����
!���


�  ����	 
������ �	
� �
�����
�
��! �
 ��� ��������� 
� ��������� 6� 

��! �
$ � �#���� ��� ��

���
�	� �����	�
�

=� ����� ���� ��� �
�����
� ���������� ��� �
���� �
 ��� �����3����
� 
� ��� ��	�� 
� r� 4��!�

r� = 20.0, 40.0, . . . , 100.05� +��� �� �2�����
 �� ��� ����	� ��,� �� 	��!� ��
 ��� 
��� 
���#��	��

��� ���
� 
����
��

=� ���� ������
 �� ��� ��
�� �

�	 ���� 
�� 
��� ��� �
���		� 
���������
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���

�

�	 �
� �
���	���$ #� ��� � ����
��
 ����
��	 ����
���� =� �� � ��� �

�	 4&5 ��
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��	� 4�	��
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� �	�!�� � �#����$ ��� ��������
� 
� �
���	���
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+��	� &* �
�����
� ����� ��
 <.J ���
��	� �������	� 4�� �����������5 �
� ���

�������� �
���	 ��	���
�� �

�	 ���	���� 
� ��� ��������
� 
���

��������� =�� & =�� 0 =�� @

������	 ���� 	k '.�0 4/<�&$'B�B5 ''�@ 4'@�'$'<�<5 'B�1 4'.�.$B&�15

?

����� �>��� δk B�< 4/�@$&E�B5 B�@ 4/�0$&1�<5 B�0 4.�<$&1�.5

���
� �������� σ�kα B/�' 4@@�&$&.&�.5 ./�' 40<�B$</�@5 .'�B 40B�E$&10�E5

������� �������� σ�kβ 'E�' 4E/�0$&0'�'5 /B�@ 4E'�.$&&E�B5 .B�@ 40B�/$&1E�/5
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�)������� �
���	���
� ρkαβ 1�@/ 41�1B$1�'@5 1�&. 4)1�00$1�@B5 1�1B 4)1�E&$1�@.5

���
�� �������� σ�kγ 01'�0 4&'&�&$0.1�E5 &0.�/ 4&1@�.$&.&�B5 &@B�@ 4&0E�0$&B1�15
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�� �
���	���
� ρkγγ 1�E1 41�&E$1�@.5 1�E/ 41�0&$1�.15 1�@1 41�0/$1�.@5
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��������� =�� / =�� B

������	 ���� 	k 'B�1 4'.�.$B&�15 ''�< 4'.�@$B&�15

?

����� �>��� δk B�& 4.�.$&1�&5 B�1 4.�E$&1�15

���
� �������� σ�kα .&�' 40.�<$<1�&5 '1�E 4E<�E$&&<�&5

������� �������� σ�kβ B<�' 4.&�1$&@<�15 B/�/ 4.1�1$&@&�B5

���
�)������� �
���	���
� ρkαβ )1�&. 4)1�.0$1�0E5 1�1 4)1�E/$1�E@5

���
�� �������� σ�kγ &@@�' 4&01�/$&'E�B5 &0@�1 4&10�@$&.1�'5

���
�� �
���	���
� ρkγγ 1�E& 41�&.$1�@/5 1�@B 41�EE$1�/15
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 ���� nij = nji �
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# ��� ��

���� �
		
#)�� �����
��$ �		 
� ��� 
��!���	 ������������ ��� ���		 ������
� �� �������� �
 �� ����


���� ��
�!� �
�� ��� �
� ������� �
 ��
��
� �����!� �� ���
��� =� ������ ���� ������! 
���

��� ������! �� ���

� �� ��� ����� ���� ��� ��
����	��� 
� � ������! ����
��� �� ��
����
��� 
�

��� ��������������� 
� ��� ��
���
��	� ���
	��
� ���� ��� �	�
 �� ���
��	��� #��� !�
��� ��� 
�


�>����� ��,���

+�� �������� ����
��� ��� �� �	�!��� #�� 
� ���
	��! ������! ��
 ���
��	��� 
���� :��

[A | B] 
��
�� ��� �
�
���
��	 
������ 
� A !���� B ��
 
��
�� ��� ��		 
��� �� y = (y
��, y��
��)

#���� y
�� ��
 y��
�� ��� ��� 
������
 
��� ��
 ��� ��
������
 
��� ����������	�� +��� ��

!�����	$ 	�����! η 
��
�� ��� ����
� 
� �		 �

�	 ����������$ ��� �
�����
� 
������ �� !���� ��

[η | y
��] ∝
�
[y��
��, y
�� | η] [η] dy��
��

#���� [y��
��, y
�� | η] [η] �� ��� ��!�	�� ���
���	�,�
 �
�����
� 
������ ���� 
�� #
�	
 
����� ��

y��
�� #��� �����		� 
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� +���$ ����! � ��� 
� ����� �
��� ���	
 ����
���$ 
�� ����	�
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��	� ���� �
 

 ��


��
��
 �
 �A�%� ��
 �: ����
 ���������� +��� �� 
��
�������
 �� ��� �
		
#��! �����
��

��� ����� ������

� �	
� 
���!� ������ �
 � ���
� �� #���� �������� ��� 
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�
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:�� ygij 
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�� ��� ����
��� 
� ��� i�� ������� �� �� ���
� #��� ��� j�� ������� �� ��� ����)

���$ �
�� �������� ����! ������� 
� ��� g�� ����	�$ g = 1, ..., 60� =� ������� 32 ��� �
����
�

�
 ��
����� ��� ������	 �
	� 
� ��� �������� �� ��� ����	�� +�� ��������� ��	��� i = 1, 2, ������)

����	�$ ����� �
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